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Analysis on the law of solving conic curve problem in college entrance examination mathematics paper

Weiyu Ma

Yangzhou University, Yangzhou, Jiangsu

[ Abstract] Conic curve is the main knowledge of plane analytic geometry, and it is also one of the important
test points in mathematics of college entrance examination. Conic curve questions are complex and the
problem-solving process is complicated. From the college entrance examination questions in recent years, the
difficulty of conic curve questions is between medium and high, which has strong comprehensiveness, and students
are prone to miss points if they are careless. Therefore, it is necessary to pay attention to cultivating students' ability
to solve problems efficiently and improve the quality of students' answers. This paper starts with the college
entrance examination questions and simply analyzes the problem-solving strategy of conic curve questions in
college entrance examination.
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